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FRER s 1A B[ i} k] Efal R | JLRILEE 4 AMEERGAY 24I4—
B 15 | 38 [ E#l | agFk | 7103 AL (640 HA
- Cs—134| 1.3E-5 6.7E-6 3.3E-5 1.6E-5 8.4E-6 | ND(9.1E-7) DEREH—H
Cs—-137| 4.5E-5 2.3E-5 1.1E-4 5.1E-5 2.5E-5 | ND(1.3E-6)
Cs—134| 15E-6 | 25E-6 | 1.2E-6 | 6.6E-6 | 2.4E-6 1.1E-6
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BEAN—DLDBHEE = (6.6E-6+1.9E-5) X 9208 X 1E6 X 1E-8 =2 4E-3{&Bq/K§
PCVA RH A(Cs) = (1.8E-6+2.7E-6) X 22E6 X 1E-8 =99E-7{EBa/F LT
PCVA R H O(Kr) = (1.2E0) X 22E6 x 1E-8 =2.6E-1{ZBa/B
PCVAH R H OKr I IRE) = 2.6E+7 X 24 x 365 x25E-19 X0.0022 /0.5 Xx1E3  =25E-TmSv/%&
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FEAB | %E& | Ba/cm®) | FEAE #%i& | (Ba/cm®) F0WA | #E (Bg/cm®) | HE(m¥/h)
Cs-134 | 1.3E-6 Cs-134 1.7E-6 Cs-134 | ND(2.0E-6)
AiIE 7/3 AiIlE 18
Cs-137 | 3.5E-6 Cs-137 49E-6 Cs-137 | ND(2.8E-6)
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7/3 28,087 18,087
7/3 Kr-85 | ND(5.7E1) 18
3.1 HH = 5 FRF DS fEZE R 2 5TE <A
BSERmEO =(3.5E-7+5.4E-7) X 10,000 X 1E6 X 1E-8 = 89E-5{EBa/BFLLTF
BOP[#R % =(1.7E-6+4.9E-6) x 18,087 x 1E6 X 1E-8 = 1.2E-3{&Bq/FF
PCVAH X H A(Cs) =(2.0E-6+2.9E-6) X 18E6 X 1E-8 = 8.8E-T{&Ba/BFLLTF
PCVAH X AKr) =57E1 x18E6 X 1E-8 = 1.0E+1{8Ba/BF LU
PCVAH RAH AKHIEIEE) =1.0E9 X24 X365 X 2.4E-19 X 0.0022 /0.5 X 1E3 = 9.3E-6mSv/ELLTF
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7/2 | Kr-85 ND(6.2E1) 20
XEREFIFELENASKHEREIL H26.711RED

2.1 = 54
B2 (RFIFE L)
M= (B35 \vF)
PCVFA X H A(Cs)
PCVA R H AKr)

PCVA R H AKARILERE)

=(2.9E-6+9.0E-6) x 0.10 *

X 1E6 X 3600 X 1E-8

=(2.1E-6+3.1E-6) X (0.02X%5.6 X5.6)E6 X 3600 X 1E-8
=(1.8E-6+3.5E-6) X 20E6 X 1E-8
=(6.2E1) X 20E6 X 1E-8

=1.2E9 x24 x365 xX3.0E-19 X0.0022 /0.5 X 1E3
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= 1.1E-6{&Bq/BFLLF

= 12{EBq/BELUT
= 14E-5mSVv/ELUT

HMMEE TR

2.4 ASBED R =51

1A ANERERR
DEHERH L AH/ A —K

(PR ERHE LAAAN—BESER R A O) (B fIBa/cm?)

OBHEEELADNN—R

FTAMRERIAY
(34 F)

2%

74»7—

AQ
T 2% T

RFREE

QBHEELAMN—HKEREED

v

QBB AL LRI - HER R R

- PRI L AN - RE
ol ;— -
BB | B gemEnn Ba/omd) | (mi/h)
Cs-134 ND(6.0E-7)
AilE 50,000
Cs-137 ND(9.1E-7)
Cs-134 ND(5.9E-7)
7/10 50,000
Cs-137 ND(9.1E-7)

FIE | BE | SR f;;&% An— 5

. Cs—134 ND(6.2E-7) ND(6.0E-7) ND(5.9E-7)

U= Cs—137 ND(9.2E-7) ND(8.9E-7) ND(9.1E-7)

Cs—134 ND(5.9E-7) ND(6.3E-7) | ND(6.2E-7)

e Cs—137 ND(9.2E-7) ND(9.2E-7) | ND(9.3E-7)
T — TP O BB At B A=

4,853m3/h (6/7~7/10)

3. = 5T

BEIMELADNA—DoDRERE
PRBEE LA N— B RS
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V2: A= A RE (m/s)
V3: A= ARE (m/s)
V4: HN—5R A RE (m/s)
V5: A/ N—5 A RE (m/s)
V6 : HESUREE (m/s)

P1: EFREIE S (dLRE) (Pa)
P2: T BEIE 1 (dL&E) (Pa)
P3: EFREIE A (FERE) (Pa)
P4: FHREIE 51 (FRE) (Pa)
P5:R/BAIE 71 (0Pa)
P:h/\—AE A (Pa)

S1: H/\— AR E#E (m?)

S2: H/N—[RRIEHE (m?)

S3: AN—[RRIEFE (m”)

S4: HN—ERSE#E (m?)
S5:R/BZEREBIOEE (m?)
S6:R/BAH A OB O EFE (m?)
S7:R/BIEE AREBOEE (m?)
S8: HER AV MEAEE (m)
0 ERBEE (ka/m°)

C1: AEFHHGELRA LAD

C2: REFHREGELE T8

C3: J&.[E ¥k (78 & L )

C4: AEFHHFERATAD
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EFARBGEERE) :P1=C1 X p XV0"2/(2g) =++(1)
TRAI(ALE) :P2=C2 % o XV0°2/(2g) *++(2)
EFREI(FER) :P3=C3 X p XV0°2/(2g) +++(3)
TR (FR) :P4=C4x p X V0"2/(2g) =+ (4)

NEZEP. MR DENGRIEE £ 5L

P1-P=¢ x p xV172/(2¢) -+ (5)
P-P2=¢ X p xV2°2/(2g) =+ (6)
P3-P=¢ x p xV372/(2g) = (7)
P-P4=¢ x p XV472/(2g) === (8)
P5-P=¢ x p XV572/(2g) ==+ (9)

ERRHBABDOTANSVRAK T

(V1 X S1+V3 X (86+S7)+V5 X S5) X 3600=(V2 X S2+V4 X (S3+S4)+V6 X S8) X 3600

EDERDOEEYIETDHE

Y=(V1 X S1+V3 X (S6+S7)+V5 X S5) X 3600—(V2 X S2+V4 X (S3+S4)+V6 X S8) x 3600

V1, V2, V3, V4, V5(&(5), (6), (7), (8), (Q)RKIZLY, PORBLDOT. IYINEAITHELSICPOEZRET S

VO €] C2 c3 C4 & 0
(m/s) (ke/m®)
1.46 0.80 -0.50 0.10 -0.50 1.00 1.20
St S2 S3 S4 S5 S6 S7 S8
(m®) (m) (m®) (m) (m? (m®) (m® (m®
1.20 1.20 1.20 1.10 0.29 0.00 0.00 2.88
P1 P2 P3 P4 P5 P
(Pa) (Pa) (Pa) (Pa) (Pa) (Pa)
0.104405 | —0.06525 | 0.013051 | —0.06525 0 -0.04306
Vi V2 V3 V4 V5 V6 Y
(m/s) (m/s) (m/s) (m/s) (m/s) (m/s) (m®/h)
1.55 0.60 0.96 0.60 0.84 0.00 0.00
IN oUT IN ouUT IN OUTHER) OK
XIN  RA
OUT: i
HREE 7,586 m’/h
HRO7VRE 0 m®h
mAaR 7,586 m/h
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7A18 1H28 71A3H 71R48
285 BfRE | RERE | RE B | RRE | RE B¥R | RERE | RE BRE | REE
(m/s) (hr) (m3/h) | (m/s) (hr) (m3/h) | (m/s) (hr) (m3/h) | (m/s) (hr) (m3/h)
i) 12 1.3 821 1.0 0.2 663 08 13 556 29 0.2 1,924
EER | 12 23 4567 13 38 4,906 1.0 05 3,636 1.3 038 5,040
JLFERE 1.4 32 6,442 1.0 0.7 4,550 13 1.0 5,763 15 6.0 7,014
JedFER | 1.9 27 9,742 1.3 15 6,524 1.6 1.3 8118 15 038 7,586
135 1.6 05 7,904 0.0 0.0 0 1.4 0.2 6916 1.3 0.7 6,422
dAER| 07 0.3 2,391 08 02 2,943 08 02 2,943 0.6 0.2 2,207
JERE 25 23 11,248 22 08 9,927 0.0 0.0 0 06 02 2,707
HILRE | 1.9 33 11,642 27 20 16,573 1.9 1.0 11,722 0.7 0.7 4,244
A 1.7 15 11,596 27 20 18,404 1.8 08 11,985 00 00 0
HEERRA| 15 1.0 9,095 28 13 17,053 18 0.8 11,156 1.1 03 6,670
BHRE 1.6 1.0 6,994 30 08 13,537 20 1.0 9,100 12 07 5527
MEEA [ 19 08 7,062 33 53 12,207 40 95 14,758 15 18 5,451
1S 1.0 0.7 4817 2.1 38 10,267 2.1 37 10,330 1.4 22 6,916
MmEER | 13 1.0 6,495 1.9 0.7 10,002 1.2 1.0 6,235 2.3 6.0 11,763
i) 14 0.7 6,370 00 0.0 0 1.0 08 4,641 23 18 10,506
wmEmEA | 11 03 3,949 0.0 0.0 0 09 08 3310 00 00 0
1675 B DI RMRNDSRBEZRIEDX DICFHD T D.
" RREsE
SHm AR 6/3 ~ 6/9 | 6/10 ~ 6/16|6/17 ~ 6/23|6/24 ~ 6/30| 7/1 ~ 1/4 ~ RREAFH (M) | FHEHRERMGN) | RiEZEmMI/h)
ﬂrﬁ?ﬁ)ﬁé 1,641,965 1,605,616 1,300,634 1,651,627 871,586 7,071,429 768 9,208

FEIBAE ECER

SE2 A5HIRHERELRA/N\—0REEF

Mt 73

ERRHERNTERE, BENNEE. BEEBEGENSHETRD S,

m TSR

78108 dJedbes 2.2m/s

e

P4
Tva
S2
vy " 3
S hii—
P1 s3 P2
> S5
ol L -
GERS) _ S4 HRS)
RFFEE -
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N/A—HAD T A
P5=0
RFFER

VO: S KURLE (m/s)

V1: A=A ARE(m/s)
V2: hN— R H A RGE (m/s)
V3: WA—RFEH ABGE (m/s)
V4: AN —RFRE A RE (m/s)
V5: HA—RFEH AEE (m/s)
P:H/\—NEF1(Pa)

P1: EFREIE S (ALR) (Pa)
P2: FHRAEIE S (ALRE) (Pa)
P3: EREIE S (FER) (Pa)
P4: TRAEIE S (FBER) (Pa)
P5:R/BAIE 71 (0Pa)

S1: AN — LR EHE (m?)

S2: 7/ \— AR EHE (m?

S3: A/ — (AR EE (m?

S4: 7/ \— AR EHE (m”

S5: R EKRIBSEAMEE (m®)
0 ERHE (ke/m°)

Cl: EBEFHHGEL R LAD
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REZEVESTDHE, LFRAL FTREDENFRDESY S,

LM GLR) :P1=C1 % o XV0"2/(2g) -+ (1)
T (ALR) :P2=C2 % p X V0"2/(2g) *++(2)
EEAI(FER) :P3=C3 % p X V0"2/(2g) *++(3)
THRAI(FER) :P4=C4 x p X V0"2/(2g) *+(4)
MEZP. MEMOERFESE S &T 5
P1-P=¢ X p xV172/(2g) -+ (5)
P-P2=¢ x o xV272/(2g) . (B)
P3-P=¢ X p XV3"2/(2¢) —(7)
P-P4=¢ x p xV4"2/(2¢g) - (8)
P5-P=¢ X p XV5°2/(2g) -+ (9)

ERRHARDIRNAFVRR
(V1 X S1+V3 X $4+V5 X §5) X 3600=(V2 X S3+V4 X S§2) X 3600

EDEEDOEEYIES DL
Y=(V1 X S1+V3 X S4+V5 X S5) X 3600~(V2 X S3+V4 X §2) X 3600

V1, V2, V3, V4, V5I&(5), (6), (7), (8), (9)KIZkY. POE#LDT, IYINELRAIZEEELSIZ

POEZAET S
Vo C1 C2 C3 C4 e o)
(m/s) (ke/m*)
2.20 0.80 -0.50 0.10 -0.50 2.00 1.20
S1 S2 S3 S4 S5
(m) (m?) (m) (m?) (m)
0.44 0.81 0.46 0.81 4.00
P1 P2 P3 P4 P5 P
(Pa) (Pa) (Pa) (Pa) (Pa) (Pa)
0.237061 | —0.14816 | 0.029633 | -0.14816 0 -0.00102
Vi V2 V3 V4 V5 Y
(m/s) (m/s) (m/s) (m/s) (m/s) (m*/h)
1.39 1.10 0.50 1.10 0.09 0.00
IN ouUT IN ouUT IN OK
XIN  GRA
OUT: it
REE 4,980 m/h
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£52 ASHRMEEH LAN/ N \—0jREEF

NES P P2y es _
mECEDRERSEFHE (—BD
7H58 1A6H 7878 7H8H 7H98 7H108
& By | RARE | RE By | RAE | EE B | REE | AR B | REE | AR BRR | RARE | RE A bop: B
(m/s) (hr) (m3/h) (m/s) (hr) (m3/h) | (m/s) (hr) (m3/h) (m/s) (hr) (m3/h) (m/s) (hr) (m3/h) | (m/s) (hr) (m3/h)
i) 00 0.0 0 00 00 0 07 05 0 10 03 0 36 25 0 09 05 0
FwEEA | 10 038 2317 00 0.0 0 038 0.3 1,817 1.1 15 2574 24 20 5,395 1.6 05 3,559
JLEER 13 33 3,021 00 0.0 0 1.0 05 2,271 13 22 3,005 13 05 2,877 18 05 4,012
JtER | 20 42 4,582 0.0 0.0 0 18 20 4,056 1.7 28 3,942 1.6 13 3,565 22 03 4,980
Eld:) 26 7.3 8,253 0.0 0.0 0 08 1.0 2,620 1.9 03 5816 23 1.0 7,179 31 02 9,746
JtdmE | 26 5.2 5,900 00 00 0 1.0 03 2,151 25 18 5,721 18 0.7 3962 00 00 0
A7 28 05 6,359 00 0.0 0 07 03 1,476 3.1 28 7,081 1.7 03 3747 0.0 00 0
HIEA | 00 0.0 0 08 0.2 1817 09 0.7 1,931 24 20 5376 1.9 08 4,361 00 00 0
HE 00 0.0 0 07 03 1,902 11 03 2,990 23 1.7 6,251 20 03 5,300 06 02 1,631
HERE| 00 0.0 0 12 05 2,768 0.9 05 2,020 22 05 5013 1.1 0.2 2,469 18 0.7 4,096
HRA 00 0.0 0 22 22 5,007 14 0.3 3,030 25 1.2 5,643 20 1.0 4,377 1.7 15 3816
MERE| 00 0.0 0 45 938 10,107 | 35 97 7,919 23 1.7 5238 1.7 08 3,895 38 8.3 8,403
208 09 08 2,879 24 28 7,640 27 33 8,559 2.1 1.7 6416 23 12 7,109 35 6.8 11,015
MEAER| 13 07 2,966 18 47 4,101 10 1.0 2313 2.1 27 4,728 29 43 6,379 25 30 5,695
i) 1.3 05 2918 15 32 3,402 1.2 22 2,590 1.7 07 3,872 31 23 7,038 13 1.0 2,918
FmEEEA | 13 0.7 2,862 0.0 0.0 0 038 05 1,796 0.0 0.0 0 28 35 6,370 14 03 3,142
5%%3)5 133,021 164,107 131,889 118,902 116,139 182,135 _
L N i —N== b7 dy =111 [T E
1673 B DI IEEERD S/REEZFEDX DICFHIE T D.
BPymeas
B R /% £ 0o
Balidtl] 6/7 ~ 6/13|6/14 ~ 6/20|6/21 ~ 6/27 |6/28 ~ 7/4 | 7/5 ~ 7/10| REEBAHMI) | FMERLREGN) [ HEEmMI/N)
J@Fﬁ?ﬁéﬁg 802,978 698,440 763,125 849,129 846,194 3,959,866 816 4,853
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